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Ideals for irreducible component#ﬂ)f Xpar

I = (W +u® 4. = 2u—1)

* 1 irreducible components of dim¢ = 0, with total 56 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I* = (u®4+u® +... —2u—1)

(i) Arc colorings

0
a2 = \u
1
as = —u?
u
a1 =\ —ud +u
—u? 41
ag = \y? — 22
—u® +2ud —u
a1 = \y” —3u® +2u+u
—u3 4+ 2u
a0 =\ —ud+u
wb —3ut+2u2+1
a7 = ub — 2ut + u?
—u® 4+ Tu'® — 200 + 270 — 1160 — 13u® + 1608 — 6u* +u? + 1
ag = \ 20 — 8u!® + 26u!0 — 400 + 1942 + 24410 — 30u® + 2u® + Hu* + 2u?
—ud 4+ 4u” — 5ud + 3u
ag = \ —u® +3u" —3u’ +u
u?? —9u?0 + . —4u? + 1
az = \ 22 —8u20 + ... — 4u* — 302
—uSt +20ut® 4 -+ 11u3 — 2u
az = —uP 4+ 19u* 4 - 45U
(ii) Obstruction class = —1
(iii) Cusp Shapes = —4u®® + 80u®! + -+ — 12u — 10

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 u®® +29u%° + - — 10U + 1
Co,C8 W — P21
c3,C7 u®% 4+ 4 4+ -+ 80u — 53
C4,Cs5,C11 u56+u55+"'_2u_1
Ce, C9, C10 w® — 3P Ayt
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y? =3y 4+ =20y +1
C2,C8 y° +29¢%° + ... —10y2 + 1
3, C7 y°% — 35¢°° + ... — 20180y + 2809
C4,Cs,C11 y56 _43y55++30y2+1
Ce,Cg, C10 y56+65y55+~~+20y+1
C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u= 0.966138 4 0.146675] —4.03618 + 3.765471 —9.86305 — 3.315281
u= 0.966138 — 0.146675] —4.03618 — 3.765471 —9.86305 + 3.315281
u = —0.005719 4 0.9067111 11.65310 + 2.425791 —0.94991 — 3.213861
u = —0.005719 — 0.9067111 11.65310 — 2.425791 —0.94991 + 3.213861
u= 0.036344 + 0.9011221 6.27142 — 9.004821 —5.29022 + 5.835081
u= 0.036344 — 0.9011221 6.27142 4 9.004821 —5.29022 — 5.835081
u = —1.090050 + 0.1404491 —1.55041 + 0.386801 | —5.72495 4 0.1
u = —1.090050 — 0.1404491 —1.55041 — 0.386801 | —5.72495+ 0.1
u = —0.028384 + 0.8989007 8.99836 + 4.050021 —2.11311 — 2.324331
u = —0.028384 — 0.8989001 8.99836 — 4.050021 —2.11311 + 2.324331
u=0.028330 + 0.8837021 4.64419 — 0.643481 —7.26111 — 0.242401
u = 0.028330 — 0.8837021 4.64419 + 0.643481 —7.26111 + 0.242401
u = —1.167310 + 0.2334321 —0.432854 + 1.1199201 0
u = —1.167310 — 0.2334321 —0.432854 — 1.1199201 0
u= 1244770+ 0.1023971 —4.72176 — 2.169231 0
w= 1.244770 — 0.1023971 —4.72176 4 2.169231 0
uw= 1.225110+ 0.2513591 —0.95561 — 5.199091 0
uw= 1.225110 — 0.2513591 —0.95561 + 5.199091 0

uw= 130697 —6.22222 0
u = 1.294490 4 0.2198241 —3.63173 — 5.288841 0
u= 1.294490 — 0.2198241 —3.63173 + 5.288841 0
u = —1.306120 + 0.1973971 —7.41440 + 1.492521 0
u = —1.306120 — 0.1973971 —7.41440 — 1.492521 0
uw= 1.253840 + 0.4216991 0.85056 — 4.026511 0
u=1.253840 — 0.4216991 0.85056 + 4.026511 0
u = —1.324320 + 0.0158561 —9.57385 + 4.233641 0
u = —1.324320 — 0.0158561 —9.57385 — 4.233641 0
u = 1.250890 + 0.4412201 2.51555 4 4.211991 0
u= 1.250890 — 0.4412201 2.51555 — 4.211991 0
u = —1.310570 4 0.2275301 —6.63163 + 9.909091 0




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u = —1.310570 — 0.2275301 —6.63163 — 9.909091 0
u = —1.257710 + 0.4367171 5.19296 4 0.720971 0
u = —1.257710 — 0.4367171 5.19296 — 0.720971 0
u = —1.279070 4 0.4370881 7.70069 + 2.374101 0
u = —1.279070 — 0.4370881 7.70069 — 2.374101 0

u=0.199264 4 0.6116231

—1.94679 — 6.930221

—6.93561 + 8.023691

u= 0.199264 — 0.6116231

—1.94679 + 6.930227

—6.93561 — 8.023691

u= 1.288170 4 0.4341281 7.63163 — 7.216691 0
u= 1288170 — 0.4341281 7.63163 + 7.216691 0
u = —1.300160 + 0.4124941 0.50431 + 5.285881 0
u = —1.300160 — 0.41249471 0.50431 — 5.285881 0
u= 1303070+ 0.4226561 4.84936 — 8.777571 0
u= 1303070 — 0.4226561 4.84936 + 8.777571 0

u = —0.042518 4+ 0.6260991

2.87687 4 2.026381

—0.63182 — 4.647211

u = —0.042518 — 0.6260991

2.87687 — 2.026381

—0.63182 + 4.647211

u = —1.308980 + 0.4223881

2.07579 + 13.739501

0

u = —1.308980 — 0.4223881

2.07579 — 13.739501

0

u = —0.166435 + 0.5825901

0.87541 + 2.422821

—3.19232 — 4.868861

u = —0.166435 — 0.5825901

0.87541 — 2.422821

—3.19232 + 4.868861

u = 0.581831 + 0.1326301

—4.09488 — 3.932511

—12.13433 4 4.903981

u= 0.581831 —0.1326301

—4.09488 + 3.932511

—12.13433 — 4.903981

u= 0.224976 + 0.5371401

—2.70624 + 1.116441

—8.57012 4 1.604541

u= 0.224976 — 0.5371401

—2.70624 — 1.116441

—8.57012 — 1.604541

u = —0.459240

—1.08734

—10.0590

u = —0.233743 4 0.2563451

—0.484744 + 0.8848501

—8.86461 — 7.463011

u = —0.233743 — 0.2563451

—0.484744 — 0.8848501

—8.86461 + 7.463011




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u? +29u™ + - — 10u? + 1
C2,C8 u’® — w20 — 1
cs3, Cr uSS +u® 4. 4 80u — 53
C4,C5,C11 w4+ —2u—1
C6,C9, C10 WO 3 b —du+ 1
C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 y*0 = 3y” 4 =20y + 1
c2, 08 %0 +29y%° + - — 10y% + 1
cs3,Cr y*% — 35y°° + .- — 20180y + 2809
C4,C5,C11 y56—43y55+---+30y2—|—1
06’09’22 Y% + 65y°° + -+ 20y + 1




